ZX/GO’O/)’CJW éj)-/'—jé);zn/

776 W@/GJ&Z& Lene

ST e M7 4 1 i

-

BUILDING DESIGN NOTE:
N ACCORDANCE WITH THE 2018 INTERNATIONAL BUILDING CODE

STRUCTURAL DESIGN NOTES:

1. Coniroctor to verify oll dimensions at construction site prior
to beginning construction work.

2. Contractor is responsible for compliance with all local
building codes and ordiances.

3, These notes shall ufpz where Indicoted otherwise by drawings
or specifications. tail shown for one condition” shall opply
for oll like or similor conditions unless specific detailing Is
shown on the plans.

4, The controctor shall provide adequote shoring and brocing for
all the work during tR; conslruc?uun period quud prolucﬂogn from

the public.

5. Al roots, stumps and den limbs or shall be removed
from the entire foundation and underside of slab area.

6. Provide sleeves in either foundation or outside wall areas,
where needed, for entry of plumbing or electrical service. Seal

sleave openings ofter plumbing ond electrical services have been
installed.

7. Al concrete shall be standord weight 3000psi compressive
strength ot 28 doys unless noted otherwise. Use Fibermesh”
concrete in oll slabs on grade.

8. Construction or control joints shall be provided in slabs on
grode so that the moximum area between joints sholl be BOO square

fest and the length not more than twice the width.

9. Relnforcing bars shall conform to ASTM A—615. All bor sizes

3 and smaoller shall ba grade 40. Bar sizes §4 and lorger shall
grade 60

10. Bending of reinforcing rods by heat shall not be allowed.

11. Al bolts, plates, clips, anchors, etc., shall be hot—dipped
galvanized os per ASTM A—123. Al bolts shall be ASTM A-307.

12. Apply a protective coat of rust resistant paint to oll axposed
metal bolts, plotes, clips, anchors, etc.

13. Instoll 6 mil polyathylene vapor barrier under slab (and welded
wire fobric whare used) at oll slabs on grade prior to pour.
Overlap joints @ minimum of (12) twelve inches.

14. Al compacted fill o be 25" Proctor.

15. Contractor to establish finished slab elevotion per latest
fEMA zone requirements.

PR

SPECIAL STRUCTURAL NOTES
1. The moximum spans of these bulldings Is forty (40) feet
when using 2 1/2 " 12 gauge, galvonized metal columns.
2. The moximum spacing of the 2 1/2 “, 15 gauge or better, galv. col
for sidewalis will be (4) feet i e soun
3. The mox. roof peak height is not to exceed 21 feet. Maintain 5 max
for horizontal bracing. {
4, Columns instalied at all door openings (not to exceed 12" wide).
Use 2 1/2 " sq. overhead header beam over sach door opening.

Header beams for door openings at the ends to be tied to the
matching overhead rofter at three equally spaced joints.

STRUCTURAL MATERIAL COMPONENTS
1. 29 gouge "Grou

These sheats are rated as follows;

a. Closs 90 uplift test rating (UL 580)
b. Closs 4 impact resistance roting (UL 2218)
c. Closs A fire resistance rating (UL 790)

2. Fosten sheets to each frame uging 12-

self—drilling, TEK screws by Rosko Fasteners (or equal).
12 gaouge, minimum yielding of
50 KSI, galvanized tube steel by Allied Tube and Conduit Co.

3. Frames to be 2 1/2 " pquars,

(or equal).
4. Minimum edge distance or spocing for TEK screws is
required for each connection.
5. Spoces to be 4'-0" max. when using 29 gouge metal.
6. Spaces to be §'~0" max. when more than 50 miles from the coaost.
7. For vaertical shesting, can run 12'~0" mox spacing with horizontal bracing.
8. For units or bulldings installe

min. of 3' of sheeting shall
TY 3 pooint, self—drilling TEK screws by

NOTE:
THE FOLLOWING APPLICATIONS AND TOLERANCES ON WID
AS 40'—0" IN WIDTH AND DOWN 70 10'-0" IN WIDTH.

nd Rib" (BOKS1) steel roofing with a 30 year
life span warranty, by Fabral (or approved equal).

d 50 miles of coostline that excaed 11' midewall height,
be installed from the top down and fostened with 12—14,

TH AND LENGTH ON THE FOLLOWING DRAWINGS CAN GO AS WIDE
THE LENGTH CAN GO UP TO 120'-0" AND DOWN TO 10'-0".

£ TO BE FOLLOWED AS INDICATED ON THE DRAWINGS.

14, TY 3 point,

3/4 ". Two

Rosko Fasteners (or aquol)

ALL REQUIREMENTS AR

NORTH & SOUTH
140 MPG WIND

CAROLINA

/ 30 PSF ROOF (LIVE—SNOW)

SPAN ROOF SHEETED ONLY

g,
N CARQ
Y0, %,

N CESSIgfe %
o ,0f iz
'-').Qg: ~/P4f1; ~

.' Zosi - R
‘M No. 22439 g

"z 0.
o,'.\l:)?'g' 4..‘3_.

/,
f//,
bR P

% 9'3'KC &

%, ENGINTEN
“n Wi N L s o
it

(/7
ity

&
2
i,

__‘__‘________—-d———————___..___f
\“\mlmm,

S CAR o’?’
= ‘1‘0; €SS/

T Y

CUSTOMER NAME:

BUILDING SIZE:
J0B SITE LOC.:
INVOICE # - DATE
ADDRESS: e -
CITY-STATE: e

GENERAL SPECIFICATIONS

K & G STORAGE, INC.

1736 HWY 301 SOUTH

DILLON, S.C. 29536
KENNY NORRIS (843) 774—2150

Benjamin L. Smith, P.E.
S.C. LIC. # 22439 — N.C. Lc. # 28666

FRAMING PLANS AND DETAILS

-




10'=0" — 120'—0"

\%1 5A ON S5
)

40" 4 SPACES © &' = 18 | 40
"7 27 MAX. SPACING FOR VERTICAL SHEETING
SHEETING NOT SHOWN
BACK ELEVATION FRAME

‘“\\l\lilllu i i,

W
\\‘
et

s A

Benjornin L. Smith, PE
s.C. UC. § 22438 - N.C. UC # 28666

GARAGE DETAILS

—

Benjomin L Smith Benjamin L. Smith

K & G STORAGE INC.~DILLON, S.C. 29336
KENNY NORRIS (843) 774-2150

4-0" 4 SPACES © &' = 18 &'-0" 12 DET'L 5A ON S5
B MAX. SPACING
| )
v “ = = e gl o
d [ 0 | | e —— =
|
+—+ 4 b d 9
Bl ‘5_1
h L b o :?
o
. b q b d
)
3? " 9 ki p q 18, 1'-8"
. Q 4" (3000 PSI) CONC. SLAB _ ——
b - WITH FIBERMESH OVER 6 MIL
B b GARAGE d ' L!  POLYETHYLENE VAPOR BARRIER q E
° ° ON COMPACTED (95% PROCTOR E4 FRONT ELEVATION FRAME
: MIN.) FILL. TREAT AREA FOR
gL ]l ® TERMITES. (WHERE REQUIRED) |, 3
% .
p g
b q s d B 29 GA STEEL SHEETING GALV.
" & PAINTED ALL OVER. ATTACH
1= WITH 12-14 X 3/4 TEK SCREWS
L ) X ) WASHERS AT EACH MAJOR RIB
o F—F q h q
9 10' X 8 O.H. DOORS
- (OR LARGER DOORS WHERE NEEDED 1
e | I——
ff| Ji |?f L we |
- 10'=0" 10'~-0" b ' n” ‘_o*
: T : L g0 - W0l ALTERNATE
P 10-0" ~ 400" FRONT ELEVATION
NOTE: 26 FT. TO 40 FT. WIDE, USE "W" TYPE TRUSS. SEE DETAIL ON 55
29 GA STEEL SHEETING GALV.
. 1P"mnx mi/%\ﬂ;én”;ac" \— 29 GA STEEL SHEETING GALV.
WITH 12—14 REWS ,
WASHERS AT EACH MAJOR RIB & PAINTED ALL OVER. ATTACH 29 GA STEEL SHEETING GALV.
WITH 12—14 X 3/4 TEK SCREWS o n? f‘é\'_foDxN-% QVERTE;T&CR?“
WASHERS AT EACH MAJOR RIB M 1218 3 b w i
ENTRY DOOR
oATer
TIRG
FRONT ELEVATION SIDE ELEVATION REAR ELEVATION
1. 2018 INTERNATIONAL BUILDING CODE. 5. SOILS DESIGN RESISTANCE OF 1 TON PER SQUARE FOOT. -
2 140 MPH WIND LOADS ON BUILDING AND ROOF. 6. DESIGN DATA
3. DP 45 FOR ALL GLASS, IF ADDED. o, ROOF LL. = 30 PSF D.L = 1 PSF
4 SEISMIC LOAD D—1 IN SITE CLASS D. b SLAB ON GRADE TO CARRY LL. = 500 PSF ==

o D rnc
N.T.5. SHEET 52




r——-’l' SPACES 0 5' = 15

—-
i

R
| — T L
B P

&' (HORIZONTAL)
12" MAX (VERTICAL)
W/ 5' PURLN SPACING

— ¥ L o

4" (3000 PSI) CONC. SLAB
WITH FIBERMESH OVER 6 MIL
POLYETHYLENE VAPOR BARRIER
ON COMPACTED gsx PROCTOR
MIN.) FILL. TREAT AREA FOR
TERMITES. (WHERE REQUIRED)

20"

FRONT ELEVATION

1, 2018 INTERNATIONAL BUILDING CODE.
2. 140 MPH WIND LOADS ON BUILDING AND ROOF.

3. DP 45 FOR ALL GLASS,

4, SEISMIC LOAD D—1 IN SITE CLASS 0.

WITH 12-14 X 3/4 TEK SCREWS

m \
29 GA STEEL SHEETING GALV.

A& PAINTED ALL OVER. ATTACH
WASHERS AT EACH MAJOR RIB

k

SIDE ELEVATION

WASHERS AT

29 GA STE
& PAINTED ALL OVER.
WITH 12-14 X E%‘ TEK SCREWS
H

MAJOR RIB

REAR ELEVATION

5. SOILS DESIGN RESISTANCE OF 1 TON PER SQUARE FOOT.

6. DESIGN DATA

o, ROOF LL. = 30 PSF D.L. = 1 PSF
b. SLAB ON GRADE TO CARRY LL. = 500 PSF

L

DET'L 54 o%ﬁ%

DET'L 54 ON S5 O

-

L

‘-ﬁloﬂ 4
%L sﬂs g.’-’ 7" WINDOW
152 1/2" 5Q
18 GA. GALV
1A ON 54
o AL
GALV. COLUMNS
DR N NN P
SHEETING NOT SHOWN
FRONT ELEVATION FRAME
DET'L 1A ON 54
TP, @ AL
GALV. COLUMNS
...-—.-\5‘.__.—-__5'_‘!
SHEETING NOT SHOWN
REAR ELEVATION FRAME
\\\\\u\llllllm,m “\“lnnulm,,.m
& w CARg \\\\““\\\_,9.4! “,
S 1 /0, % Se¥of i 5
& S" % e
By 4 y § 2
s < \ . 2 EYE S B
: D 3 E E 28666 @ =
Za A § Ze. 23 i
2000 2 P S
KT "i»:-“\\\ %%144&-‘,.‘?;:!‘5 "'t\\“\\\\
LTI i

Benjamin L. Smith, PE
5.C. UC. § 22439 — NC. UC. § 20066

" GTORAGE/CARPORT DETAILS
oo —

Benjomin L. Smith I Benjarmin L. Smith
e K & G STORAGE INC.—DILLON, S.C. 20536

KENNY NORRIS (843 T74-2150
S R
I "




\\\\\“““c""'"””lflq
S stoen, TS 2 1/2" SQ. (15 GA.
Song " OR BETTER) GALV. COLUMN
: N PN e 2 FADE 4 TEK SCREWS
2o 0 s h TS 2 1/2" sa. (15 GA. OR
i N = BETTER) GALV. COLUMN
ity o [ CONCRETE WHERE USED
|1 Yok - CReTE” 30" L
2—f#4 BARS, | DEEP X 8™ ML 12 I 37187 x 3 1/2" x 3 1/2°
FROM BOT'M & ONE =
14" FROM TOP “ SZQ)L(BXEQNC. BRICK . s 7 47 B NS G OR
RN Y B BETTER) GALV. RAFTER
S, DETAIL_1A COLD BEND FOR 3/12 SLOPE
FRLEN et PO TR 5 5
e ;B ’ : 14 GA. BRACKET
1. 58,5'636 S (140 MPH WIND LOAD) (140 MPH WIND LOAD) BRACE FOR JOINTS, SEE SHEET 5
BN TS & 487 S0 L8 08 OR (3] B3/4" TEK SCAAE. Ts 2 1/2" SQ. (15 GA. OR
Ui ¥ L BETTER) GALV. RAFTER EACH SIDE, EACH MEMBER
i (1) 3/4" TEK SCREW IN CORNER BETTER) GALV. RAFTER
COLD BEND FOR 3/12 SLOPE DETAIL 4
TS 2 1/4" sQ. (14 GA) (140 MPH WIND LOAD)
. X 6" LG. SLEEVE »
(2) 374" TEK SCRENS AR : : TS 2 1/2" sQ. (15 GA. OR
' (T;PiEGTE) ZSIJE/E‘\*IE ST%LE@C%PEG' BETTER) GALY. RAFTER
: 0 50 (15 GA
MEMBERS 3" EACH WAY & GR A= ' ' FASTEN "C" SECTION TO
DETAIL 2 : ; J)U%E/ SECTON W
(140 MPH WIND LOAD) (3) 3/4" TEK SCREWS EA. SIDE EACH SIDE
TS 2 1/2" SQ. (15 GA. OR DETAIL 3
BETTER) GALV. RAFTER (140 MPH WIND LOAD)
‘ 14 GA. CORNER BRACKET i,
SEE SHEET S6 FOR DETAIL SN CARg M,
| (2) 3/4" TEK SCREWS. EACH S/
| SIDE, EACH MEMBER 0 zeees o E oo
| 2o 25 fis STRUCTURAL DETAILLS
| S "9,,"*.44:0!“(’5%:\\\@“ — l—-
—Q—E—M ””h”":'::illh‘;“\“‘\\ ””””f:fﬁlllhﬂ.\\“\\\‘ Benjomin L. Smith Benjamin L. Smith
n - STORAGE INC.-DILLON, S.C. 28836
(OPTIONAL REPLACEMENT i A " * Mo nomns (3) 720
(140 MPH WIND LO)AD) NTS. SHEET 54




FLAT CENTER BRACKET
SEE SHEET 5
FOR DETAIL

TS 2 1/2" SQ. (15 GA. OR
BETTER) GALV. RAFTER

-

v

\

3

TS 2 1/2" SQ. (15 GA.—

OR BETTER) GALV.
VERT. BRACE

TS 2 1/2" sQ. (15 GA.

BETTER) GALV. HORIZ.
BRACE

N (8) 3/4” TEK SCREWS
(4) EACH MEMBER

i

DETAIL 5

1/8" X 2" X 4" GALV.
FLAT PL. EACH
SIDE @ ALL TS
CONNECTIONS

1S 2 1/2" sQ. (15 GA.
OR BETTER) GALV.
VERT. BRACE

TS 2 1/2" sQ. (15 GA. OR
BETTER) GALV. HORIZ.
BRACE

7S 2 1/2" SQ. (15 GA. OR
BETTER) GALV. RAFTER

(2) 3/4" TEK SCREWS, EACH
SIDE, EACH MEMBER

DETAIL S5A

1S 2 1/2° (15 GA.
OR BETTER)

GALV. MEMBER

UM

FOR ANGLE BRACKETS,

_TJM_S‘EE DETAIL 7

\_(2) 3/4" TEK SCREWS EACH

LEG, EACH MEMBER
DETAIL 6

(2) 3/4" TEK SCREWS
EACH LEG

2 1/2"

2 1/2"

(14 GA GALV. ANGLE)

DETAIL 7

ANGLE BRACKET

DETAIL

SNw CARpdly, SR

)

Wiy
it iy
Rogt

: %2 o - :
% oo 5 s o 2-Flf
X% ¥ . 8 4
% RN +, Svg ety
7o ek AMTPEANEEAR
TN o UM TN L
g ™

Benjomin L. Smith, PE
S.C. LC. §22433 - N.C. UC. §28666

=

o T,
Uy

— |
OETAIL 2 OR 4

DETAIL. 5

e

ETAIL 1

TYPICAL ENDWALL

- %ETAIL 3 ﬁ )
DETAIL 2 OR

|

TYPICAL BUILDING FRAME

DETAIL 1

%

TYP. CONNECTION FOR TS
SHOWN ON SHEET 6

AL 1

TYPICAL "W" TRUSS DETAIL

&
N

Z

Z
£
F
F

i

STRUCTURAL DETAILS

—
Benjamin L. Smith I Benjamin L. Smith

K & G STORAGE INC.-DILLON, S.C. 20536
KENNY NORRIS (843) 774-2150
e

i [ s |

SHEET S3




\2 1/2" GALVANIZED STUDS

SECTION

"W" TRUSS FOR 26" TO 40

TYPICAL DETAIL

24"

FLAT CENTER BRACKET

322509-14

21/2"

14 GA. BRACKET
FOR TRUSS JOINTS

““muuum,
O iy,
SR IS ¢ 4,

iy
"f,
9.;-‘
-]
E
7( O
o

X R .
IS ER
D 2

“\\!Imllllu” ”

L
A

"5

()

g™

o
SO
AR

N

‘.‘.\

TS
'""quum\l\“‘

‘“‘“i\llllflu"”

\\
SR \“ “,
= Zz
é 25&05 g
’—, 5
3o T§
%‘*«;f"f@!n& 8y s“
’I/ ity ¥ NL \\\
M

Benjomin L. Smith, PE
5.C. UC. §22438 — N.C. LC. #28666

AmTmen
b W TRUSS FOR 26' TO 40' SPAN
TYPICAL DEV/
O e —
Benjomin L. Smith Benjomin L. Smith

L] K & G STORAGE INC.~DILLON, S.C. 28536

KENNY NORRIS (843) 774-2150
- e T Y

N.T.S. SHEET S8




L 3/18" X 2" X 3" CONT:

3/4" HOLE FOR 5/8" ANCHORS e

MOOPSMTEFODTH.MN.OFVDEEPUNDERM
48° 0.C,
- SECTION A-A
4 " 4 'y fo 4 4
1 Y ) Y [y
1
\ TIE TO CONCRETE WiTH 5/8" =2
WEDGE ANCHORS AT 48" 0.C.
V. L 3/18° % 2" x3°
TOP VIEW
2 /47 X 2 1/4" X 13 GA 5Q. TV
.r—_lrll ry ﬂk 3 1 _q r i 1 L +
) N ) R

) A
Joonmconcammmm,uu.ofl‘uw’uumum

SIDE VIEW

1. INSTALL 2 1/4" X 2 1/4" X 13 GA. SQ. TUBING, 6 INCHES HIGH, 4 FT. 0.c. 10

GALV. L 3/16" X 2" X 3" SHOWN. WELD TO BASE TUBE.

2. SUDE THE 2 1/2" X 2 1/2" X 13 GA 5Q. TUBING OVER TH
FASTEN WITH 12—14 X 3/4" TEC SCREWS ON 3 SIDES.

THIS APPUES TO SUPPORT FOR ALL STEEL STRUCTURAL UNITS.
4. WHERE UNMS ARE MORE THAN 50 MILES FROM COAST THE COLUMNS
MAY BE 5 FEET ON CENTER. OTHERWISE COLUNNS TO BE 4 FEET ON CENTER.

UIRED ON UNITS GREATER THAN 11 FT SIDEWALL HEIGHT,

5. SIDEWALL BRACING REQ
CONSISTING OF 3 FEET OF SHEETING FROM THE TOP.

£ 6" HIGH TUBING.

FRONT ELEVATION

8 WHERE COLUMNS ARE INSTALLED INTO THE CONCRETE FOOTERS

USE fi4 REBAR THROUGH THE COLUMNS IN TWO DIRECTIONS, g, gy,

WHEN THERE IS NO SLAB. USE ANGLE AS SHOWN IN DETAIL 1A Sp CAR ow CARg %,
WHEN USING A SLAB. SR sy 6§ 14
3 = =Y
?__ 4 : L 28666 g
BT L STl
L A 0 N AR IMARNE

AL} S fr,,” WiN'L. 5\‘\‘\\

(o

WiN'y. 2
”’”lrilﬂlll‘l-ll\“\\\\
Benjomnin L Smith, PE
sC. UG, 22439 — NG, LC. 28660

GALY. 5Q. TUBING 2 1/4" X 2 1/4" X 13 GA

1/2°, 18

TYPICAL FOR RAFTER EXTENSION OR LEAN TO CARPORT

,_—z 1/2° 15 GA. C—CHANNEL]

SIDE ELEVATION

—————
amTes
. ALTERNATE CARPORT STORAGE SYSTEM
FOOTER SUPPORT SYSTEM
Ll —
Benjomin L Smith Banjomin L. Smith
= X & G STORAGE INC.-DILLON, 5.C. 20538
KENNY NORRIS (843) 774-2150
- L e o —
NT.S. SHEET S7




